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Evaluating Functions, Algebraically

@Alm How do we evaluate functions algebraically?

Warm Up: Answer the following questions based on the information below:
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Let¥= {1, 2, 3,4} and\/ {5, 6,7, 8,9}. Function g is defined below.
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a) Is g a function? Explain why or why not. i
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Guided Practice: Evaluating Functions ( )( , \/ )
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jo(r0)+18 =118
10(2)+\g= 48
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Exercise 2- Given the following function, f (x) = 2x + 3, evaluate for the following:

f(10)

2(0)+3 =23

m?z:) i .p(|o) = Z?ﬂ"/
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f(=9)

f(=2)

2(-2)+ 3 = -I

[£(-2) = -1]

3
2(3)+ 3 =

[£(3)=a]
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Exercise 3- Evaluate the following functions:

If f(x) = 2x — 5, find f(4)
gt
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?_(4_\.)-5’ e

£ = 3)|

If f(x)=3x-1, ﬁndf(:rS)
n
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3(-9)-\=-\L

(£ESd=-1G)

If f(x) = 7x + 12, find £ (2)

(2)+\2= 2L

Let’s summarize before we move on

f (x) really replaces #

When you’re ask to find f(any #)... P\ug W Hhot W 'pot' A (\ﬁPU“'y

When you’re asked to find x if f(x) = a#.. CY€ONC <Guation,
Se+ rule =-Hnaat & and solve




